
 

 

     0 x 9 = 0 

1 x 9 = 9    2 x 9 = 18 

3 x 9 = 27    4 x 9 = 36 

5 x 9 = 45    6 x 9 = 54 

7 x 9 = 63    8 x 9 = 72 

9 x 9 = 81    10 x 9 = 90  

11 x 9 = 99    12 x 9 = 108 

 

Top tips 

1. Use your fingers to help.    

 

 

2.  The digits always add up to a total of nine. 

3. As the tens get bigger the ones get smaller. 

4. If you multiply it by an odd number, the answer is odd.  If 

you multiply it by an even number, the answer is even. 

5. Some are easy answers you know already.  0 x 9,  10 x 9,      

2 x 9. 

6. A number multiplied by nine is always that number less than 

it multiplied by ten.  e.g.  3 x 10 = 30 

                                        3 x 9 = 30 -3 = 27 



 

 


